PREITTERZE/ N 2BER TR 5 11 8 2458 RERETR AB414+19A

AARE G- R MARE 2

iy 11H6H 2H— 1187H HEHIT 11H8H 2= 11H9H 2R 114108 2R
A\ |artem Ha  |HiE |'§7m‘%f§é e | |amaiE e |28 | eMatE = | |’é‘ﬁ%ﬁ% =
FEEMGBETME 0.1 KG [HEKER BRHB|BER<ES 2 KG |HEKER
ER 0.3KG NE 2KG =il 2KG H 0.6 KG BWE(N<EBEATFES> 3 1@
AEEE(QROKRT 8 KG AT ZEE#4(QRC)+ 1KG HEE<ER> 8 KG Bk 0.3KG KRFRER 0.3KG
AL |BRET (CAS)<iEHIE> 3KG| o TRA <R E> 23.5KG )< T KHMI(CAS)(1K)< 5= fée> 3@ =1 FARZ il 0.1KG| H3(CAS)<EH B> KG
x | % (BT (cas)<EtiE> 23KG| 3 |ZEEETE(QRC) 10KG| ™ | KBET (CAS)<iZA> 5KG| % |=8%(600g) 18] & ls1447
fm £ (CAS)<ETD = B IWEET (cas)oz 5 B i
. = . S
* | g |RT<mEE> 3q| pp FECED)+ 4KG Z SR GEE ) (A M) (FL 4R
2 L R & T (DK (cAs)<tE B> 30KG
=R 2KG #1ZEE/NT (QRO)+ 2KG RFRER 0.2 KG AT ZEE#4(QRC)+ 2 KG #TEEEIK T (QRO)+ 1KG
o H£FHFE(QRC) 4KG| ¢ BIRA<HRE> 2KG| SHE(KR)(101E)<E A FIE> 18 TRA <R E> 2KG| & [RGB E)(E/K)(QRC) 20 KG
g | & |EEEE(QRC) 3KG| 17 |EHKH(cas)<=E> 14k6| 2 |SF(UH)EEER 2> 15Kka| ¥ S REZE(QRC)+ 1SKG| T |/NERERIE<UIEC>(CAS) 9KG
29t FRM(CAS)|BE ol R e 2 AT
SR 24k6| B |ET((cAs)(1K)<HERE> 28| g [AREOEO)AT)+ 15KG| pe |BEBR<ETE>GK) 28| = |m# 2KG
= M [EeenTen) oke|  |EmT k6| |@EEREEE-(50g) 28| %
5|7 [=# 0.2KG ﬁ QwReE 02KG f QwReE o2ke| & |winem 02KG
e ==
K| o [WERX(EHERE) 31KG| = |WREZ(BH) 31KG = | TEXBEH) 32K6| 1 BNE(BH) 32KG
flél = = *L\
Wi 6KG| . [E 0.2KG i #1285 A (QRC)+ 2KG e B E(EH)+(QRC) 7KG - A ZE S #4(QRC)+ 2KG
- 1}9 R Bl FE> 6KG| z |REHE(0.6K) 18 /I (QRC) 4KG| g | RE(])<KE> 2KG| gx |RAK<HRE> 2KG
gf; ? IEE R <R >(5K) 5E| & |EE<EMN 7KG| B | KRE(ID)<HE> 2KG| Z |EKHI(CAS)(1IK)<ERE> 4KG| A |£#HEE(QRC) 8 KG
Q ® G PN=ES(ol Il 8kG| = # |=&maro 2KG
” 7 [ RE#(aro) 28| 7 ”
K ;f; BRI <EL2>(125ml) 415+2 R K |KR 43317
R | 5 |[BpEEss025m) 38 R
E=N] &g R &g Ehill| & Ehill| = £ =il &
x SRR I 5.2 SRR EE 5.1 R EE 4.6 SRR EE 5 ERIREE 48
§ T EENE 26 TEENE 2 T EEAE 1.4 o EEAE 2 o EEAE 20
= SHIFEJE 2.8 SHREZE 32 SHFEE 3 SHIFEE 3 SHIFEE 3
B 12 B 1 [ 0.9 B 1.3 B 1.5
bas
¥ LmiE 1 KB JKERIE 1 FLmiE KB
FECKF) 796 BERR) 676 BERR) 645 EERKR) 668 FECKF) 674




